
LIFE SCIENCES Grade 12 2022
Marking Guideline - Practical Task Term 2: Genetics and Heredity
	Total
	

	
	30


QUESTION 1
	Trait
	Baby

	
	Genotype
	Phenotype

	Eyes 
	RR/
Rr/
rr         (
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	Nose 
	NN/
Nn/
nn       (
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	Hair
	HH/
Hh/
hh       (
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	Teeth
	TT/
Tt/
tt       (
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            (Note: Phenotypes must be indicated)

(8)
(Note: Mark according to the learner’s phenotype)
	E.g.                                                    Papyrus domesticus baby 
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Round eyes

Oval nose

Pointed teeth







Assessment criteria (Must be marked according to each individual learner’s answers)
	Criteria
	Description of assessment

	Heading                   (H)
	Heading present (() 

	Indication of traits
(4 traits)                   (T)
	1-3 traits correctly indicated (()

4 traits correctly indicated ((()

	All 4 traits labelled   (L)
	All 4 traits labelled (() 


(4)
(12)
QUESTION 2
	2.1
	- A change in the sequence( 
- of nitrogenous bases(/nucleotides in DNA
	(2)

	
	
	

	2.2
	(a)  Suffers from Huntington’s chorea(
	(1)

	
	
	

	2.2
	(b)   hh (
	  (1)

	
	
	

	2.3
	P1
Phenotype

Female with Huntington’s chorea
x

Normal male (
Genotype

Hh
x

hh (
Meiosis

Gametes

H,  h
x

 h,   h  (
Fertilisation

F1
Genotype

             Hh;        Hh;         hh;    hh (
Phenotype

   2 with Huntington’s chorea and 2 normal (
% of phenotype: 50% *( chance of having a child with Huntington’s chorea                          

P1 and F1(
Meiosis and fertilisation(
*1 compulsory + any 5
OR

P1
Phenotype

Female with Huntington’s chorea
x

Normal male (
Genotype

Hh
x

hh (
Meiosis

Gametes

H
h
h
Hh
hh
h
Hh
hh
    1 mark for correct gametes

1 mark for correct genotypes

Fertilisation

F1
Phenotype

  2 with Huntington’s chorea and 2 normal (
% of phenotype: 50% *( chance of having a child with Huntington’s chorea                          

P1 and F1(
Meiosis and fertilisation(
*1 compulsory + any 5

	  (6)

	
	
	(10)


QUESTION 3
	3.1
	Co-dominance ( 


	  (1)

	3.2
	Both/white and black alleles are equally dominant( and are both expressed in the offspring’s phenotype (
	(2)

	3.3
	Genotype (
RR

RT

TT

Number of offspring(
5

10

5

OR
Genotype (
Number of offspring(
RR

5

RT

10

TT

5


	

	
	Guidelines for assessing the table

Criteria 

Mark 

Correct table format     (F)
1

Column/Row headings(H)
1 mark for genotype

1 mark for number of offspring
Data entered               (D)
1 mark for the correct genotypes entered

1 mark for the correct numbers entered.


	(5)

	
	
	(8)
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Practical Task 2

Weighting: Practical Skills

	Practical Skills

	Follow instructions
	Handle equipment
	Make observations
	Draw a diagram 
	Calculation
	Interpret
	Design/Plan

	(
	
	(
	(
	(
	(
	


Weighting: Cognitive Levels

	Question
	Cognitive Levels
	Degrees of Difficulty

	
	Level A

Knowledge
	Level B

Understanding
	Level C

Application
	Level D

Evaluate, analyse & synthesize
	Easy 
	Moderate
	Difficult 
	Very difficult 

	1.1
	
	8
	4
	
	
	4
	8
	

	2.1
	2
	
	
	
	2
	
	
	

	2.2 (a)
	
	1
	
	
	
	
	1
	

	2.2 (b)
	
	1
	
	
	
	
	1
	

	2.3
	2
	4
	
	
	
	6
	
	

	3.1
	1
	
	
	
	2
	
	1
	

	3.2
	
	
	2
	
	
	
	
	

	3.3
	1
	2
	
	2
	
	
	1
	4

	Total
	6
	16
	6
	2
	4
	10
	12
	4

	%
	20
	53
	20
	7
	14
	33
	40
	13


4

_1708339426

_1708339461

_1710125845
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